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Section 1 - Reasoning

No. of Questions: 50

1) Select the alternative that will replace the question mark in the given analogy.
459 : 954 :: 387 : ?

A) 983
B) 783
C) 939
D) 700

1) 39 [ehed HTITT Y Sl foT TN Areed & oo Rigat &l gfaenfa S|

459 : 954 :: 387 : ?

A) 983
B) 783
C) 939
D) 700

2) Select the alternative that will replace the question mark in the given analogy.
25:5::169:7

A) 9
B) 11
C)13
D) 18

2) Y fqeheq BT Y ol T U ey & uee e & gfaeanfa s
25:5:: 169 : ?
A) 9

B) 11
C)13

Page10f90



Setld:61773_4 Technical Assistant (LAB) - Bio-

Technology BATCH1 180CT2020

D) 18

3) A number P is a least two digit number such that it leaves 2 as a remainder in each case when
divided by 4, 3 and 8. Find the number P.

A) 26
B) 42
C) 29
D) 48

3) T&AT P TS «gqH G 3idhi §&AT 5, Sl 4, 3 3R 8 garT fAenfoid 819 R Tedeh A 2 2 AW &
&9 & 1 ¢ | TEAT P DI AT Y|

A) 26
B) 42
C) 29
D) 48

4) Observe the given series.What number should come next in this series?

32, 31, 33, 32, 34, 33, 35, 34

A) 36
B) 32
C) 33
D) 35

4) &Y TS ST BT Q6707 HY| 3 ST 3 S DM Fer S anfge?
32, 31, 33, 32, 34, 33, 35, 34

A) 36
B) 32
C)33
D) 35

5) W is half of J. J is double of K. K'is 109. The value of "W" is
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A) 108
B) 219
C) 109
D) 218

5) J BT SMYTW 51 K BTGHT J 1 K BTHM 109 G| "W" BT HH fhcell 572

A) 108
B) 219
C) 109
D) 218

6) In a certain code, MOUNTAIN is coded as NIATNUOM. What will be the code of the word
MGSFFJSK?

A) KSIFFSEM
B) KSIFGTGM
C) KSIHFSGM
D) KSJFFSGM

6) TF Ht2rd Tw §# MOUNTAIN &t NIATNUOM % &9 § %z a7 63T SITaT 81 58 MGSFFJSK T e
FT ZRIT?

A) KSIFFSEM
B) KSIFGTGM
C) KSIHFSGM
D) KSJFFSGM

7) In a certain code, PARAS is coded as QBSBT. What will be the code of the word NGTTY?

A) OHUZU
B) NHUTY
C) OHUUZ
D) OHUTZ

7) U= A2 %z § PARAS T QBSBT & &9 # %2 a3 (a7 J1aT 21 58 NGTTY T %2 F7T 1?2
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A) OHUZU
B) NHUTY
C) OHUUZ
D) OHUTZ

8) A image is given on the left with a pattern. Which of the four images on the right does NOT have
the pattern of the left image as its part?

g LAY |

1 2 3 A

A) 1
B) 2
C)3
D) 4

8) TTE 3R U Yeet & Y U RAF & 718 g1 a1 3R dr IR Rt 7 T frget a1 =7 &7 UM 7181 82

g KA LY [

1 2 3

4

A) 1
B) 2
C)3
D) 4

9) Find the odd one out.

A) Car : Vehicle
B) Iron : Metal
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C) Chair : Furniture
D) Door : Window

9) faw#H w1 S|

A) ®TR: dTed

B) @rer: 41,
C)@Fﬁ:ﬁﬁﬂ?
D) garer: g

10) You are given a statement.
Statement : Today is NOT Monday.
Which of the following questions can be answered by using the given statement?

A) Is it a Wednesday tomorrow?
B) Is it a Tuesday tomorrow?

C) Was it a Saturday yesterday?
D) Was it a Friday yesterday?

10) 31U TH HY &7 T g
PHY: 3T GHAR LT B

T T HYT BT IYTNT B fero=T 3 T DI A UReT BT 30 &A1 o el 82

A) a1 HA JYAR &7

B) & e HITTTAR 87
C) arar &t erfAaR U172
D) &1 o Yoraw U1?

11) What will be the 60% of a number if 80% of that number is 1607

A) 90
B) 120
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C) 140
D) 150

11) e G BT60% F4T BT, 3R I FEIT HT180%, 160 32

A) 90

B) 120
C) 140
D) 150

12) Pointing to lady, Raju (Raju is a male) said ,"She is the daughter of the wife of my son's father."
How is the lady related to Raju's wife?

A) Sister

B) Mother

C) Daughter

D) Daughter-in-law

12) Ueb Ao T 3R SURTHR G, (6], (16 Ueb Y&V &) 7 Do, "d6 HR ac o e &b ealt Hr 9 1"
AT 9] 1 vt I S Faferd 82

A) §&q
B) of
C)adr
D) 58

-]

13) If 'Son' is related to 'Daughter’, then 'Brother' is related to

A) Aunt

B) Sister
C) Father
D) Friend

13) IfE 'qer '3 Q Faftrg g, a1 "HIS' vy gaftra 82
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A) gt
B) §5
C) Ryar
D) areat

14) Find the cube that can be formed by folding the sheet shown below.

14) 9 P1 g& 8 A1d Reare 7T 2T 3l wies (HSHY) B I™T Sl Thdl 5 |
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15) Among the given group of 4 images, which set of images can be classified as a group?

15)
R0 T 4 =T & |9 | 7 ohd 9qga =l &7 UF 998 & €9 § a¥(6d hAT ST 96T 72
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17) Select the alternative that will replace the question mark in the given analogy.
Lion : Den :: Honey-bee : ?

A) Meadow
B) Holes
C) Hives
D) Burrow

17) I fqeheq DT Y ol T T ey & ure g &l gfaeanfia o

TR : T AYFFHT : ?

A) IR
B) forer
C) ot
D) fig

18) A train moving at a speed of 54 km/hr crosses a pole in 10 seconds. How long will it take for
the same train to cross a bridge of length 150 m?

A) 20 seconds
B) 25 seconds
C) 30 seconds
D) 40 seconds
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18) 54 km/hr T 71fY T T TH ¢oF 10 YHSH T U I UR Bl g | 3T &eF BT 150 m AT aTat
Ud 1 UR R  fheelr GHY TR 2

A) 20 THS
B) 25 ddhe
C) 30 Adhe
D) 40 ddhe

19) What is the next term in the given series?
The series is 331, 331, 662, 993, ?

A) 1224
B) 1324
C) 1436
D) 1536

19) &Y TS Tl & 3raTel TEAT FT 87
ST Q- 331, 331, 662, 993, ?

A) 1224
B) 1324
C) 1436
D) 1536

20) If x% of x is 900, then the value of 4x is

A) 3600
B) 2400
C) 1200
D) 6000

20) T x BT x% 900 €, dl 4x HTHM fhrc=T BHI?

A) 3600
B) 2400
C) 1200
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D) 6000

21) What is the coded number for WNCSZV that can be inferred from the following image?
LETTER:CZNVRSWFD

CODEDIGIT:864729351

A) 348267
B) 318267
C) 348957
D) 348967

21) WNCSZV & forT & seer T&am &1 81 Wil foe=T R & SITHI ST S Jeball 57
LETTER:CZNVRSWFD

CODEDIGIT: 864729351

A) 348267
B) 318267
C) 348957
D) 348967

22) To appear for an exam P, at least three out of these four conditions are to be satisfied:
1) At least 60% marks in 10th.

2) At least 55% marks in 12th.

3) Age more than 18 years.

4) Weight more than 60 kgs.

To appear in exam Q, at least two out of these four conditions are required:

1) At least 70% marks in 10th.

2) At least 50% marks in 12th.
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3) Age more than 17 years.
4) Weight more than 50 kgs.

Lata has 45% marks in 10th and 34% marks in 12th. She is 15 years old, and weighs 64 kgs. For
which of these exams is she eligible?

A) Only P

B) Only Q

C)Both P and Q
D) Neither P nor Q

22) T qQieT P & 3uReyd 81 & e, 37 IR ordf & 9 &7 9 HH a4 orf gt g1 o1l

1) 1091 & HH I HH 60% 3D |
2) 1241 & HH I HH 55% 3|
3) 319 18 a¥ ¥ 31|
4) 9o 60 kgs I 37|

gler Q # 39TEYT BF & TolT, 39 IR 2raf 7 ¥ HH U &H ol a3 &

1) 1041 & B I HH 70% 3ib|
2) 1201 & HH J HH 50% 3P|
3) 31 17 99 ¥ 31|
4) TS 50 kgs I 3iferen]

AT & 109 T 45% 3B &, 12 o 7 34% 3i &1 T8 15 T $T 8, 3R IYPBIISH 64 kgs B | 5797 I
fre 9faT & farw a8 AT 872

A) Hadap
B)®adQ

C) p 3R Q gt
D)gdipaiRa&Q

23) To appear in an exam P, at least three out of these four conditions are to be satisfied:
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1) At least 60% marks in 10th.
2) At least 55% marks in 12th.
3) Age more than 18 years.
4) Weight more than 60 kgs.

To appear in an exam Q, at least two out of these four conditions are to be satisfied:

1) At least 70% marks in 10th.
2) At least 50% marks in 12th.
3) Age more than 17 years.
4) Weight more than 50 kgs.

Radha has 61% marks in 10th and 52% marks in 12th. She is 21 years old and has a weight of 74
kgs. For which of these exams is she eligible?

A) Only P

B) Only Q

C)Both Pand Q
D) Neither P nor Q

23) T qQieT P & 3uReyd 81 & e, 37 IR ordf 7 9 &H 8 S o4 ot gt g1 iR

1) 1091  HH I HH 60% 3iH|
2) 1201 & HH J HH 55% 3P|
3) 31 18 a¥ ¥ 317 |
4) a9 60 kgs I 31|

gdler Q # 39TEYT BF & ToIw, 39 IR 2raf 7 9 HH U &H ol 39T &

1) 1041 & B0 I HH 70% 3ib|
2) 1201 & HH J HH 50% 3P|
3) 31 17 a¥ ¥ 317 |
4) a9 50 kgs I 31|

T & 10dT 7 61% 3iH E, 1271 & 52% 3ic &1 98 21 T 1 8 3R IYBTIS 74 kgs 81 344 I g
qdreT & forw 98 e 17

A) Sad P
B) #a@Q
C)p 3R QAT
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D)gatpaRa&rQ

24) To appear in an exam P, at least three out of these four conditions are to be satisfied:
1) At least 60% marks in 10th.

2) At least 55% marks in 12th.

3) Age more than 18 years.

4) Weight more than 60 kgs.

To appear in exam Q, at least two out of these four conditions are to be satisfied:

1) At least 70% marks in 10th.

2) At least 50% marks in 12th.

3) Age more than 17 years.

4) Weight more than 50 kgs.

Sarang has 75% marks in 10th and 64% marks in 12th. He is 22 years old, and has a weight of 67
kgs.

For which of these exams is he eligible?

A) Only P

B) Only Q

C)Both Pand Q
D) Neither P nor Q

24) TS &1 P # 39T8yd 811 & foiv, 39 9R el & § 0 9§ $H dH et g a1 sl
1) 1091 & HH I HH 60% 3 |

2) 1241 & $H I HH 55% 3 |

3) 31 18 a¥ Y 31 |

4) 9o 60 kgs T 31T |

odieT Q # 39Teyd §H & faw, 39 IR ordf & ¥ &0 W HF & 3wy §:
1) 10 It A HH A HH 70% 3 |

2) 12 9t 1 HH J HH 50% 3 |

3) 31 17 9§ 9 310 |
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4) a5 50 kgs I 31Tl

IRIT &7 10 A 7 75% 3B &, 1241 7 64% 3ich | I8 22 I BT 8, 3R ITBTISH 67 kgs | 5397 I
e areT & forw 98 AT 82

A) Had P

B) %adQ
C)p 3R Qaet
D)adipaiRaéaQ

25) A figure is given on the left with a pattern. Observe and find out which of the three images on
the right looks similar to the right half of the pattern on the left?

A) 1
B) 2
C)3
D) Both 1 and 2

25) aT$ 3R Teh teet Tfed U T2 o T B | eamerdoh 3FRrw SR A1 e ik g oiR & ol Rt
F I DI & SR B Yoot S afear MY REq & T fewar g2
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A) 1
B) 2
C)3

D) 1 3iR 2 gt

26) Which of the given option will NOT share the same property as the elements of the given set?

Mouse, Keyboard, Printer

A) Scanner

B) Tennis

C) Monitor

D) Web Camera

26) 4T T fashedt & ¥ D A1 Fched SRS DI I el ST Gl T T < F ded HRd &2

A) £t
B) +frg
C) mfforex
D) 35 w1

27) You are given a pair of statements.

(i) P is an odd number.
(i) Q is an even number.
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Which of the following questions can be answered by using the given statements?

A) What will be the remainder left when (P+Q) is divided by 27?
B) What will be the remainder left when (P+Q) is divided by 37?
C) What will be the remainder left when P is divided by 37
D) What will be the remainder left when Q is divided by 47?

27) 31U FH2uA T T SISE TS B
(i) P & faws g g |
(i) Q Uh JH HET B |

T TN =T BT IUANT BRP ToioT & I hg Y2 B 3T &7 Sl bl 82

A) S (P+Q) BT 2 T fasnfora fram ST € df YA 4T RTT?
B) 5@ (P+Q) &1 3 § Remfora fram ST 8 df [9Whd &=r 1?2
C) 99 P &1 3 ¥ fsnfora fawar ST & df AN & gRTT?
D) 9§ Q &1 4 ¥ fysiora fawam ST € df Wl arar 12

28) You are given a statement.
Statement: P is a prime number.

Which of the following questions can be answered by using the given statement?

A) Is P divisible by 27?
B) Is P divisible by 37
C) Is P divisible by 47?
D) Is P divisible by 5?

28) 3ATUH T HY f&ar 741 B
HUT: P U 3T & & |

T 7T HYT BT IYINT Db oeT & T B F U2 BT 30X &7 S JohdT g2

A) FT P, 2 T TS 82
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B) w7 P, 3 9 ResT 82
C)aar P, 4 T RssT 272
D) g2 P, 5 9 RosT 872

29) 68% of the students passed in an examination. If the number of students who failed are 256,
then the total number of students who passed are

A) 544

B) 623

C) 800

D) 657

29) TS qReT 3 68% el 3ehof G SR St faenfEiat i wear 256 3, @ <ot ezt
& HET Rl 32

A) 544
B) 623
C) 800
D) 657

30) Harini's mother is Jeevan's father's only daughter. How is Harini related to Jeevan?

A) Sister

B) Mother
C) Daughter
D) Niece

30) &Rl 7 AT g & Rar & sdhaia 8¢t 8 | gRel BIoliaT J aar Ty g2
A) g8

B) ot

C)sdr

D) vyjsft
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31) Three among the four options mentioned below belong to the same class or group. The odd
one out is

A) Square
B) Cube
C) Pyramid
D) Cylinder

31) e 2T TN IR feheq A T TP &) 597 1 TG § Gt &1 3007 ¥ ST DI A1 57

A) TFaRR
B) eyt

C) fRrifs
D) Rrest

32) Which answer figure will complete the pattern given in the problem figure?

Problem Figures: Answers Figures:

OB ? | [BIDIPIP

(A) (B) (©) (D) (1) (2) (3) (4)

A) 1
B) 2
C)3
D) 4

32) BIF Ul 3aT TP & T8 TATAT P B deet bl TR B2
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Problem Figures: Answers Figures:
OB ?] D ®
(A) (B) ©) (D) (1) (2) (3) 4)
A) 1
B) 2
C)3
D)4

33) Among the given group of 4 images, which set of images can be classified as a
group?

33)
30 T 4 =T & |9 | 7 hd 9qga =l &7 UF 998 & €9 § a¥(6d hA7 ST 96T 72
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A) (1, 2, 3)
B) (1, 2, 4)
C)(1,3,4)
D) (2, 3, 4)

34) Identify the mirror image of PS8R17L3.

A) £E1VTHA82H

B) €14148Sd
C) EYArHA8e9

D) €47148Sd

34) PS8R17L3 &Y o SE fl Ugdred |

A) £E1VTA8BSH
B) £€14148Sd
C) EYIrHA8eq
D) €47148Sd

35) Select the alternative that will replace the question mark in the given analogy.
Algeria : Algiers :: Austria : ?

A) Kabul
B) Tirana
C) Suva
D) Vienna

35) 39 fered BT I Y Sl fow T Areed & e Rigad & gfaenfa S|
el : ool Ty = 3Teear: ?
A) BTgd

B) farrer
C)ﬁTﬂ
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D) e

36) The value of a car depreciates at the rate of 8% per annum. What will be the price of the car
after 2 years, if the current worth of the car is ¥ 3,00,0007?

A) % 376510
B) % 342170
C) % 285640
D) 253920

36)
T T HT o TTdad 8% il & & & SATAT g 2 HTA F18 HIL HT JoF FIT AT ATS THHT FAHT o7 I
300000 g?

A) 376510
B) % 342170
C) % 285640
D) % 253920

37) The next number in the series is:

6, 20,42,72,7

A) 100
B) 102
C) 110
D) 112

37) 4% # TSl HEAT DI I 82
6, 20,42, 72,7

A) 100
B) 102
C) 110
D) 112
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38) The next number in the series is

582, 586, 595, 611, ?

A) 636
B) 654
C) 670
D) 688

38) ST 3 3TN FEAT B Ul 72

582, 586, 595, 611, ?

A) 636
B) 654
C) 670
D) 688

39) A cricketer's average score in 10 innings was 36. In his 11th innings, he scored some runs
because of which his average increased to 40. What was his score in 11th innings?

A) 40
B) 50
C) 70
D) 80

39) 10 TRt & T fohdhex BT 3T THR 36 UTI (THT 11T a1y & I8 P& I 1Y, T BRI
IIHT3Td T¢h40 B T 1191 Iy 7 STBTERR T4 YUT?

A) 40
B) 50
C) 70
D) 80

40) If 'bcd’ is written as ‘def’, then what is the code for ‘true’?

A) dcek
B) kpuz
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C) vtwg
D) fimw

40) AR 'bed' Bl 'def B &9 & @ T 8, Al 'true’ & frw e a1 BRI?

A) dcek
B) kpuz
C) vtwg
D) fimw

41) A figure is given on the left with a pattern. Observe and find which of the three images on the
right looks similar to the top half of the pattern on the left?

1 2 3

A) 1
B) 2
C)3
D) Both 1 and 2

41) aTE 3R TP et & Y T g & T | eareudas 2fRw 3R 71 e s ars iR & i fst
F Y P T a1 3R P et B M 3 REd S I gar 82

A) 1
B) 2
C)3
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D) 1 3R 2 @t

42) Which of the following options will NOT share the same property as the elements of the given
set?

ADG, CFI, BEH, DGJ

A) MPS
B) NQT
C)LNQ
D) RUX

42) RFAfaf@a # I B A1 fasheq T T He & dedl & oI T[0T DI AT 7t BT

ADG, CFI, BEH, DGJ

A) MPS
B) NQT
C)LNQ
D) RUX

43) You are given a statement.
Statement : Circle P has a radius of more than 6 cm.

Which of the following questions can be answered by using the given statement?

A) What is the diameter of P?
B) What is the area of P?

C) Can a square of side length 15 cm completely lie inside P?
D) Can a square of side length 2 cm completely lie inside P?

43) 31T Th HYF e 7 2
HY: G P BT 3516 cm W 31 3

T T YT BT IYIAN] BRSP oroT & I Fg I2a7 BT 33X 3T ol bl 82
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A) P BT caTd T 82
B) P &I8awa 18?7
C)  =ar 15 cm T Y TS AT TP FHBIU Iq T P P iR G TR ¥ AR 81 Gha 82
D) & 2 cm =11 & e ATel T GHSDIUT Iq4sT P & HidR g8 ave I fARRd 81 Gobdl 87

44) The combined age of Alex and Charles is 12 years more than the combined age of Reeta and
Charles. 18 years ago, Alex was three times as old as Reeta. The present age of Reeta is

A) 24 years
B) 26 years
C) 28 years
D) 30 years

44) TIIFE 3R AT Y FYF 3T Jar SR dTexT A YT 31T F 12 3§ 3110k 81 18 W Us,
T Jar Y A AT S2er 37 BT U1 AT & T 3 fhdkel 67

A) 24 a§
B) 26 af
C) 28 a§
D) 30 a§

45) Rahim is the son of Rehan, who is the son of Sana. Sana's daughter has only one child,
Shahrukh. How is Rahim's sister related to Shahrukh?

A) Uncle
B) Aunt
C) Mother
D) Cousin

45) T, g BT 9l 8, SN IT H1deT 8 | TAT dr 3¢ HT1Hdd Uh g 8, 2Meed | EIH T T84
MEEE T Y Fafdra 82

A) T
B) Tr<ht
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C)ar
D) 7oy 9igH

46) 4 means 'is the sister of', 5 means 'is the mother of and 2 means 'is the brother of'. The relation

isexpressedas X2Y,Y5Z,Z4 N, and N 2 L. Which of the following statements is valid for the
given relation?

A) L is the son of Y

B) N is the daughter of X
C) N is the brother of X
D) Y is the mother of L

46) 4 BIHT R R TEIQ, 5 PIHT S R AT§ IR 2 BIHT T BIHES 1 eI BIX2Y, Y52, Z 4N,
RN 2 L & &9 & cgaa frar 11 g1 eafaf@a § &1 91 $Y7 BT U I&Y & faw 3¢ g2
AYSIGTLT

B)X#radINg

C)X HTUE N '

D)LfFrarye

47) Three of the four choices mentioned below belong to the same category or class. Find the odd
one out.

A) Lionel Messi

B) Cristiano Ronaldo
C) Dani Alves

D) Paul Walker

47) 90 3T TN IR et F T I T & Aol O7 a9 & §| 5e137 ¥ SRITTT A hifor|

A) fordiarer AEEY

B) frfeeamr Qetrest
C) ganfey s

D) uid gt
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48) Given below are some of the different views of a dice. What would be the number opposite to
the number 47?

”II

A) 9
B) 5
C)7
D)6

48) I Th UM & faffiest &9 U T §| T&T 4 & faudia et & Tear 41 ghil?

” ) I

A)9
B) 5
C)7
D) 6

49) Among the given group of 4 images, which set of images can be classified as a group?
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49)
R 4 ==t ® &, ==t F g 99ga &1 v 998 | awtigd a1 ST aaar 8?2

L
1 2 3 4
A) (1, 2, 3)
B) (1, 2, 4)
C)(1,3,4)
D) (2, 3, 4)

50) Find the odd one out.

A)

50) fawar AT FIfST]

A)
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B)
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Section 2 - English Language

No. of Questions: 50

51) Identify the Antonym for the word - pitfall

A) Safeguard
B) Danger
C) Monitor
D) Inaction

52) Choose the correct article to complete the sentence:
Every Sunday Joan goes to church.

A) No article required
B) an

C) the

D)a

53) Identify the error in the following sentence. The error, if any, will be in one part of the sentence,
the number of that part is your answer. If there is no error, mark your answer as (D).

(A) I always go to / (B) seeing a film/ (C) on Friday evenings./ (D) No Error.

A) A
B) B
c)C
D)D

54) Choose the best meaning of the underlined idiom in the sentence.
The friends meet each other once in a blue moon.

A) for a short time

B) once in a while

C) under the blue moon light
D) during the full moon

55) Fill in the blank with the correct pronoun:
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| lost the pen | bought yesterday.

A) that
B) whom
C) where
D) who

56) Fill in the blank with correct option:

| parked my car a tree and went in search of my dog.

A) between
B) over

C) above
D) under

57) Fill in the blank with correct option:

She hid the letter a pile of papers.

A) over

B) among
C) beneath
D) with

58) Choose a suitable option to complete the sentence:
His father is very proud of his

A) failure

B) downfall
C) success
D) misfortune

59) Identify the Compound sentence.

A) There is no magic formula for success.
B) He is a family friend.
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C) He lost the next page of his speech and floundered for a few seconds.

D) George and Harry are good friends.

60) Choose the word that is correctly spelt.

A) Descrete
B) Discrite
C) Discrete
D) Diescrete

61) Identify the correct Synonym of the underlined word:

They invited me for dinner and | thought it would be churlish to refuse.

A) Polished
B) Rude

C) Polite

D) Courteous

62) Identify the correct Synonym of the underlined word:
| don't think you understand the gravity of the situation.

A) Usefulness
B) Cheerfulness
C) Calmness

D) Seriousness

63) Fill in the blank/s with the correct form of the verb given in brackets:

My mother never

(curse) anyone during her lifetime.

A) cursed

B) curse

C) will curse

D) will be cursing
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64) Fill in the blank/s with the correct form of the verb given in brackets:

I (decide) to complete this work by the end of the day.

A) am to deciding

B) will decides

C) had been decided
D) decided

65) Choose the correct verb to complete the sentence:
She was chosen for the role because she very well.

A) sings

B) was singing
C) is singing
D) will sing

66) Choose the correct verb to complete the sentence:
He the article last night.

A) writes
B) written
C) wrote

D) will write

67) ldentify the Antonym for the word - analogous

A) Different
B) Similar
C) Digital
D) Manual

68) Choose the correct article to complete the sentence:

They went for a holiday to _ Andamans.

A) a
B) an
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C) the
D) No article is required

69) Identify the error in the following sentence. The error, if any, will be in one part of the sentence,
the number of that part is your answer. If there is no error, mark your answer as (D).

(A) Our new sofa / (B) don't fit / (C) through the door. / (D) No Error.

A) A
B) B
c)C
D)D

70) Complete the sentence with the correct phrase.
The Indian athlete won the gold medal because he ran

A) for great speed
B) at top speed
C) on great speed
D) in great speed

71) Choose the meaning of the underlined idiom in the sentence.

She acted professionally by keeping the terms of her contract as she did not want to burn bridges
at her old job.

A) to close the way backward
B) to close the bridge

C) to break the barrier

D) to start all over again

72) Fill in the blank with the correct pronoun:

The jury is not ready with verdict.

A) his
B) its
C) their
D) her
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73) Fill in the blank with the correct pronoun:
Please listen to he says.

A) what
B) that

C) which
D) them

74) Fill in the blank with correct option:

The tunnel goes right the city.

A) between
B) over

C) above

D) underneath

75) Choose the correct option to complete the sentence:
The boy always does as he is told.

A) careless
B) naughty
C) indolent
D) obedient

76) Choose the correct option to complete the sentence:

She had to take rest, because she was after the climb.

A) excited

B) elated

C) bored

D) exhausted

77) Identify the Complex sentence.

A) The radio started to crackle.
B) The logs crackled and popped in the fireplace.
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C) An elderly couple lives next door.
D) When | was younger, | could stay up all night.

78) Choose the word that is correctly spelt.

A) Ambivelence
B) Ambivaylens
C) Ambivaelance
D) Ambivalence

79) Choose the word that is correctly spelt.

A) Questionnaire
B) Questionaire
C) Questionnair
D) Questionnairre

80) Identify the correct Synonym of the underlined word:

He was dressed scantily.

A) Successfully
B) Inadequately
C) Sufficiently
D) Ideally

81) Identify the correct Synonym of the underlined word:

A decrepit old man sat on a park bench.

A) Clumsy
B) Frail

C) Happy
D) Tall
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82) Fill in the blank/s with the correct form of the verb given in brackets:

Samuel (complete) his postgraduation and soon (leave) for the US.

A) completed, leaves

B) has completed, will be leaving
C) will complete, will leaves

D) completed, lefts

83) Fill in the blank/s with the correct form of the verb given in brackets:

Ram (go) to be an engineer when he (grow) up.

A) was going, will grow
B) goes, grew

C) will go, grows

D) is going, grows

84) Choose the correct verb to complete the sentence:
The garden is now better kept than it last year.

A) was
B) is

C) were
D) has

85) Choose the antonym of the underlined word.
Visiting Rajasthan during the summers will give rise to chagrin.

A) Exasperation
B) Pleasure

C) Mortification
D) Vexation

86) Choose the correct article to complete the sentence:
He drives his car at 60 kilometres hour.

A) a
B) an
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C) the
D) No article required

87) Choose the correct article to complete the sentence:
May | have pleasure of your company?

A) a

B) an

C) the

D) No article required

88) Identify the error in the following sentence. The error, if any, will be in one part of the sentence,
the number of that part is your answer. If there is no error, mark your answer as (D).

(A) The temperature are / (B) expected to be in / (C) the eighties tomorrow. / (D) No Error.
A) A

B)B

C)C

D)D

89) Choose the meaning of the underlined idiom in the sentence:

Ronaldo kept a stiff upper lip all the time while he was being treated in the hospital.

A) showed off

B) showed joy

C) showed courage

D) showed reservations

90) Choose the Pronoun in the given sentence:

To whom should | write?

A) to

B) should
C) write
D) whom
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91) Fill in the blank with correct option:

Please put your shoes before you step out onto the stage.

A) for
B) of
C)on
D)in

92) Fill in the blank with the correct option:

the river lies the village of Shantipur.

A) On

B) After
C) Before
D) Beyond

93) Choose the correct option to complete the sentence:
The accountant after he was accused of fraud.

A) rejoiced
B) remained
C) resigned
D) receded

94) Choose the correct option to complete the sentence:

His career is by his careless attitude towards work.

A) effected
B) affected
C) flourished
D) spiraled

95) Identify the Compound sentence.
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A) She mumbled something about being too busy.
B) These exercises build muscle and increase stamina.
C) He was muttering to himself.

D) Unfortunately some poisonous mushrooms look like edible mushrooms.

96) Choose the word that is correctly spelt.

A) Disseminate
B) Dessiminate
C) Desseminate
D) Desiminate

97) Identify the correct synonym:
Avid

A) Uninterested
B) Keen

C) Indifferent
D) Submissive

98) Identify the correct synonym:
Eloquence

A) Attention

B) Humbleness
C) Delusion

D) Fluency

99) Fill in the blank/s with the correct form of the verb given in brackets:

He (explain) the rules several times but | did not understand them.

A) explained

B) is explaining

C) will explain

D) will be explaining

Page420f90



Setld:61773_4 Technical Assistant (LAB) - Bio-

Technology BATCH1 180CT2020

100) Choose the correct verb to complete the sentence:
The Bond movie, 'Die Another Day' is tonight.

A) premier

B) premiering

C) been premiere
D) to premiered
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Section 3 - General Awareness

No. of Questions: 50

101) Which yesteryear actress has been conferred the Master Deenanath Mangeshkar Lifetime
Award 20197

A) Helen

B) Asha Parekh

C) Waheeda Rehman
D) Hema Malini

101) rE TTd T AT D AR AT HNRER ARHEISH 37a1S 2019 T FFaATfad fhar a1 82

A) ¥aq
B) smem U
C) arer YeHH
D) g anforett

102) Which of the following is NOT a water harvesting system in India?

A) Rojison
B) Khadin

C) Kuhl

D) Surangam

102) A faf@a & Q S 1 HRA & STd GIE0T JOTTel 78f 872

A) A=
B) @rfeat
C)W

D) g¥m

103) Which vitamin is necessary for calcium absorption in the body?
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A) Vitamin-A
B) Vitamin-B
C) Vitamin-C
D) Vitamin-D

103) 2R 3 Sfoerra & ST & forw i T fFerfHeT a9 gidl 82

A) fer@=-A
B) ferf@=1-B
C) fgerfa=-c
D) ferf@=-D

104) In 1953, Andhra Pradesh became the first state in India to be created on the basis of

A) Religion
B) Language
C) Caste

D) Population

104) 1953 #, 37 g Ae=Tfaf@a & 9 forg YR W a1fad g4 arell HRd &I Ugdl Tog a9 717

A) 3§
B) o
C) sy
D) St

105) Muga silk is produced in which of the following states of India?

A) Karnataka
B) Rajasthan
C) Assam

D) Chattisgarh
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105) T[T IR P 3culea HRA & Aefarad & ¥ e T & 8id1 82

A) T

B) Irerearme
C) 3rqH

D) aeireere

106) Nataraja, Lord of Dance is a depiction of which Hindu god?

A) Shiva

B) Ganesha
C) Karthikeya
D) Indra

106) T <, TeRNol e Reg qddl Bl R Pd &2

A) farg

B) Trorgy
C) mfcira
D)s—;‘r

107) Which of the following states has the longest coastline in India?

A) West Bengal
B) Goa

C) Gujarat

D) Odisha

107) YR & fe=rfaf@a & 9 fFa To & Jad ddl ded™dl g2

A) afers ST
B) mar

C) 1orRrd

D) snfaar
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108) The biggest canal project in India that starts from the Harike barrage at Sultanpur, a few
kilometers below the confluence of rivers Sutlej and Beas is

A) Ganga Sagar Canal Project
B) Mahanadi Canal Project

C) Indira Gandhi Canal Project
D) Son Canal Project

108) YR & FodTeTaR & gReh SRIS1 I & T arell T FoI6R IRASTAT DI Ul 5, Sl Faers 3R
T AR B HTH 9 $B fheleler R 3

A) T IR 8 gt
B) #grerdy -8R aRasten
C) gfezr ieht Tex aRAsT=
D) 9 TR uRstar

109) Who was victorious among the following rulers in the Second Battle of Panipat?

A) Akbar
B) Hemu
C) Sher Shah Suri
D) Babur

109) UMIUG & gfacha Jayr 3 Fefaile amae 3 B forh gan U2

A) 3peR
B) 39
C) <rame iy

D) s1er

110) Which of the following Navratnas was responsible for creating the successful land revenue
system for Akbar?

A) Birbal
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B) Raja Man Singh
C) Raja Todar Mal
D) Faizi

110) Reafaf@a & ¥ fFa Fatc 7 3beR D forT YBd Y ITsIEd TuTTel b1 [y fomam U1?

A) dRed

B) e v A
C) a7 Treryd
D) &t

111) As per the Election Commission, in the 2014 general elections, which of the following Indian
states had the highest number of Lok Sabha seats?

A) Rajasthan

B) Maharashtra
C) Bihar

D) Uttar Pradesh

111) TG 3T & Hearfaes, 2014 & AT TG H, f=fai@d HRAY =t 7 ¥ fha T H
AleaHT Hret Hr Tear o 3 U172

A) TsrETe
B) Frgrree
C) ReR

D) zaz geer

112) EVMs are used in Indian General and State Elections by voters to cast their vote. EVM is an
acronym for

A) Electrical Voting Mechanism
B) Election Voting Machine

C) Elected Voting Member

D) Electronic Voting Machine
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112) HRGIG 31 AT 3R AT IoATat 3 HAGH & fore HAGIS] garT EVM 13U fhar e g |
EVM o=t 3 ¥ favaer aRauff ereg o7

A) gafdeane alfee AdfAaH
B) sorerer aifear A=A

C) saareg AIfdar AR

D) sarareifores aifar W

113) What was the theme of National Science Day 20197

A) Science and Technology for a Sustainable Future

B) Science for the People and the People for Science
C) Science and Technology for Specially Abled Persons
D) Science for Nation Building

113) IO Taaaret fead 2019 DI H fawar (UH) . U2

A) 7 Rrceerh sifrsa 3 fore T SR e ey
B) oirait & forw far=irer SiR fasier & forw @nt

C) Rycatar civait & e Rremer 31K e ARy

D) gree fosTor & forw e

114) Who was appointed as the Chairman of the Defence Research and Development
Organisation (DRDO) and Secretary in Department of Defence Research and Development
(DDR&D) in August 20187

A) Dr. Kailasavadivoo Sivan
B) Dr. G. Satheesh Reddy
C) Dr. G. Madhavan Nair
D) Dr. Pravin Kumar Mehta
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114) 31916 2018 # 8T SFTHYT Td fashr T3 (DRDO) & 3reeT IR 6T SFTHY™ U fashra
feTmeT (DDR&D) & TRT & &7 & F fgera o ma1?

A) Sl Feraarieg faae
B) I Sif. gl a2

C) St off. ATeas AR
D) ST wdfor $AR Azl

115) Yogeshwar Dutt, an Indian sportsman, is associated with which of the following sports?

A) Swimming
B) Kabbadi
C) Wrestling
D) Boxing

115) HRAT RS IR &d, Peafarad & 9 frg Td § gefa £2

A) 31y

B) Fagar
C) et

D) farerasht

116) Which of the following players is associated with the sport of 'Wrestling'?

A) Vikas Gowda

B) Shiva Thapa

C) Soumyaijit Ghosh

D) Narsingh Pancham Yadav

116) =T 3 ¥ B I puedy "Bl & Wl § TR 2

A) e ST
B) fRrar umar
C) gtrgaha 9y
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D) =g U= diea

117) Which Railway Station in India has become the first ever railway station to get Green ISO
Certification from the National Green Tribunal?

A) New Delhi
B) Habibgunj
C) Guwahati
D) Secunderabad

117) YRA BT DI T I00d T AW el ReFTe @Ry e 1SO FaAToT U ITelT Ugell Iefd Teered
9 T 72

A) 7 faeeh
B) gdllerTs
C) Tramerér
D) fahexree;

118) In March 2019, who among the following was appointed as one of the Managing Directors of
Life Insurance Corporation (LIC)?

A) Nishant Patil

B) Vipin Anand Monday
C) Varsha Sharma

D) Raghu Ram Rajan

118) AT 2019 #, Ae=ifaf@a & ¥ 8 Siia ST 91 (LIC) & yaey foieerent 3 U & &9 &
et T T2

A) eI arfeer
B) fafer s HS
C) gt erAT

D) 3g 3w I
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119) Usually when a yellow curry stain on the cloth is rubbed with soap, it turns brownish-red. This
is because

A) soap contains an acid

B) curry contains turmeric that turns brownish-red with base present in soap

C) curry contains red chilly powder that turns brownish-red with base present in soap
D) soap does not show cleansing action for turmeric present in curry

119) TAIT: S8 HUSWR T ol & AT B Uiel SN DI AT & TSI &, I I8 HR-alTet T Bl
g1 STl §1 I8 safer il © F4ifeh

A) 1§ 3 3 T B

B) e o gedr BIc § N WIaH #F HING &TR & §u 3 M WR-a1e T 41 81 SIrelt 3

C)  Are # A1 AT Ur3SREIdT & Wil WG 31 HIS[E 6TR & Tueh & ST HR-aTe T 18l olell o
D) 19T IIeH o TIS[G godl & foITw GRT W1t B 1 3har Y& TRid =18 Xdl &

120) Drikold is a refrigerant that uses

A) frozen water

B) solid carbon dioxide
C) solid nitrogen

D) frozen acetic acid

120) f3ohres U o g SN

A) STH T SIS T SEFHTST HAAT §

B) 319 et sre3itararss &l sedATe B 8
C) 31 eATsersteT H1 SEAATS BT §

D) 514 gq ufdfees 31t o1 sEciTel BT 8

121) Which of the following options is NOT matched correctly?

A) Rights Against Exploitation: Article 20-22
B) Right to Equality: Article 14-18
C) Right to Freedom of Religion: Article 25-28
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D) Cultural and Educational Rights: Article 29-30

121) freaIfarflrd & @ B 1 fisrew @y &7 A AR a1t 82

A) RNY0T & e 31fR: 3fwde 20-22

B) Trdl o1 siftrer: 3f<da 14-18

C) enfdier Tacdar &1 31fR: S cde 25-28

D) wieapfer TR fRvat Helefl srfarepme: 3r=d 29-30

122) Which Schedule of the Indian Constitution makes provision for division of powers between the
Centre and the States?

A) Sixth schedule
B) Seventh schedule
C) Third schedule
D) First schedule

122) HRA Gfaenr i frar STl & g SR T2t & siidl ATt & [asiTsiet &1 graene g2

A) T8t STl

B) et srpeget
C) ehardr STl
O) dgelt ST

123) Which of the following statements is CORRECT regarding the Sikh Gurus?

A) Guru Ram Das became Sikh Guru after Guru Arjan Dev

B) Guru Tegh Bahadur appointed Banda Bahadur as the military leader of the Sikhs
C) Gurmukhi Script was given by Guru Arjan Dev

D) The birth place of Guru Nanak is Basarke, India

123) @ T[83it & &Y o Meafaf@d & 9 HH 91 YT TE 32

A) 1% M Y, 7% 1ot od & §1E A TF a4
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B) 115 d7 S8IqX A fagt & Ao Ad1 & &9 & gear T8I Bl fAgerd
C) T A TI% 3reiet 3d ganr & Tt ot
D) 11% & &1 sfer T YR & TRRS §

124) Which place is famous for Chikankari, a traditional embroidery style?

A) Ludhiana
B) Lucknow
C) Hyderabad
D) Mysore

124) B I TUTeT RieheTehll, Th URURH Hls el & forw uideer g2

A)Fﬁlw
B) thea
C) germaTe

D) #gz

125) On which of the following rivers is the Panchet Dam constructed?

A) Damodar
B) Mahanadi
C) Krishna
D) Luni

125) fre=tfaf@a & § fre 78T R gad S1Y &1 fR#Tor fFar T 82

A) R
B) mgrerd
C) o
D) oft

126) Baralacha La pass connects which two states of India?
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A) Himachal Pradesh and Jammu and Kashmir
B) Himachal Pradesh and Uttarakhand

C) Sikkim and West Bengal

D) Uttarakhand and Uttar Pradesh

126) TSTATAT AT &3 HRd & et G Tt DI SISl 82

A) AT T 3TR SFA-FFHR
B) ferArarer weer iR swRrEs

C) fafFera 3R ufRas STd

D) 3awrais 3R 3av weer

127) Which civilization deployed the 'Gurukul system' for Education in India?

A) The Vedic Civilisation

B) The Indus Valley Civilisation
C) The Mesopotamian Civilisation
D) The Dravidian Civilisation

127) forE @ 4 HRA 7 18T & farw T[wea gomelr o1 5aR fhar?

A) dfee Ferar

B) ey amdy werar

C) Adrer@ae ge=ran
D) afag @s=ar

128) Which of the following Governor generals of the East India company introduced the most
controversial policy called 'Doctrine of Lapse'?

A) Lord Curzon

B) Lord Mountbatten
C) Lord Dalhousie
D) Warren Hastings
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128) $¥c Sf3aT HU! & eI ITaiT STelieil & ¥ foraer Tad fqarereue sifa dxr & of, ford
ST BT (At BTl 67

A) St FoieT

B) &it& ATSede
C) @its STl

D) g afedsw

129) The National Emblem and Seal of the Government of India was taken from the:

A) Iron Pillar, Delhi

B) Ashoka Pillar, Sarnath
C) Qutub Minar, Delhi

D) Sanchi Stupa, Raisen

129) HRA WBR BT T Rieg 3R HoX B Bl 9 forr 7T U1?

A) T8 w91, Reeelr

B) a=iiep &ist, IRATY
C) e HHR, e
D) gfelt &1 equ, a9

130) As per the 44th Constitutional Amendment of 1978, which of the following ceased to be a
fundamental right and remained only a legal right?

A) Right to Work

B) Right to Property
C) Right to Health
D) Right to Privacy

130) 1978 & 443 s JMYT & STUR, Reafaf@d & Y DI A1 Ao 3WFHR 7 WP Dbad
BT IR I T 32

A) HTH BT 3R
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B) Fufy &1 1R
C) Fareey &1 3SR
D) fastar &1 3R

131) The launch of Chandrayaan-2, India's second Moon mission was called off by ISRO due to a
technical snag. The rescheduled date on which this spacecraft was successfully launched is:

A) August 15, 2019
B) August 22, 2019
C) July 22, 2019
D) July 15, 2019

131) HRA & HR AT AT TeTeT -2 D FATIUT bl AehotchT WRISI! b BRUT ISRO EaRT TR PR
feam TT 11 39 3Rt I Bl U adIgdsh Y fhe 9 Y gAfHeiRa fafy o 9 o2

A) 30T 15, 2019
B) 3mrea 22, 2019
C) Jefrg 22, 2019
D) Semg 15, 2019

132) Identify the software unveiled in 2018, to keep track of punctuality of trains as well as freight
and passenger earnings from anywhere in India.

A) eDisha
B) eConnect
C) eDrishti
D) eRail

132) YR & &1 I W A1 3R arsr 3T & IIY-T1Y oAt 1 JHY &7 greidy TR AR I8 & faw 2018
H 3R] fhT U AiTredaR i UgdT Y|

A) 3-fem
B) §-saee
C)gefee
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D) 3@

133) Duleep Trophy is associated with which of the following sports?

A) Hockey

B) Cricket

C) Lawn Tennis
D) Golf

133) i ST feeafaf@a & ¥ e Td T gefaa 22

A) gt
B) frdrer
C) div-2faw
D) afrew

134) Which of the following sports is associated with Deodhar trophy?

A) Cricket

B) Lawn Tennis
C) Football

D) Volleyball

134) Prerfaf@a & I P 1 Id AR oihr T gefad 82

A) frre
B) dlq 2w

C)W
D) arefiater

135) Which movie won the award in the category of 'Best Documentary Short Subject' at the 91st
Academy Awards?

A) Black Sheep
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B) End Game
C) A Night at the Garden
D) Period. End of Sentence

135) 919 UbSHI 3ar$H 3 for fhes A ‘9 STargaiey 2ie Teotare’ T Aol # TREpR offdr?

A) s T

B) gy

C) 31 1ge U g amdsT
D) diftgrs TS offh d=e

136) The Northeast Frontier Railway (NFR) won the best innovation award in the Indian Railways
for the fiscal year 2018-19. What is the name of the innovation?

A) Nano Ganesh
B) Plan Bee

C) Nanneer

D) Bhungroo

136) JafeR THId Idd (NFR) 7 =i o 2018-19 & T YR I0d BT THS ATRTdT JREPR
ST 8139 TaRIR 1AM 41 872

A) 7Y TRy
B) correr ot
C) aiix

D) yorw

137) "Even a diseased person can donate eyes after death for another person in need." A person
suffering from or expired due to which of the following diseases can donate eyes?

A) Diabetes
B) Cholera
C) Tetanus
D) Meningitis
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137) “Th &90T e Hl Heg & a1 el QR SR dHg cafad Bl S{U! 317 G PRl 61"
frrIfaRad 7 9 e ey ¥ 71%a 1 {d cafFd 30 <M B Yol 87

A) ydg

B) &g

C) ey s I
D) wfeass sax

138) Wires carrying electricity should NOT be touched bare footed. This is because

A) the earth has high potential

B) live wire has low potential

C) live wire has high potential

D) wire carrying electricity has infinite resistance

138) farstell Jarc ART 1 A7 R oy HRUI F oAET BT AR

A) F2it 3 eRdY BT Rerg 3T Eldl @

B) a1t i @firg AR &1 ferg e Bl &

C) =it i @f3par dR &1 f397a 3=a 8idl ©

D) it s Tl g AR ST wfeRier 3 Sl §

139) Motilal Nehru and eight Congress leaders drafted a Constitution for India in the year:

A) 1926
B) 1927
C) 1929
D) 1928

139) AT 8w 3R FHT P 3T Aq131T 7 URD & farw fyemeT o1 7AeT fFa a¥ 3 IR fxar U1?

A) 1926
B) 1927
C) 1929
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D) 1928

140) The Joint Sittings of the two Houses of Parliament are held in the

A) Speaker's Chamber
B) President's Chamber
C) Central Hall

D) Committee Hall

140) HIE B alelt et T HYoFdT S eI AN T Sl &7

A) T BT IR
B) reeafa drdew
C) & et

D) afafa e

141) The celebration of 'Khordad Sal' marks the birthday of the prophet belonging to which
religion?

A) Sikhs
B) Jains
C) Hindus
D) Parsis

141) '@ieie TIA 1 3c0d e 997 T Hafa Yol & sledATeeT BT udie 872
A) R
B) &4

C) g
D) gt

142) Who launched the 'Shuddhi movement' to reconvert the Hindus who were converted to other
religions?

A) Brahmo Samaj
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B) Prarthana Samaj
C) Arya Samaj
D) Radha Soami

142) 319 &t 7 gRafda fhe MU Rgsll &1 g wRafdd &1 & faw ey s frae & fmar
Y1?

A) srgaT THIST

B) grefer IS

C) 3wt w1

D) J1em warey

143) The highest mountain peak in India is

A) Nanda Devi

B) Kangto

C) Saramati

D) Kangchenjunga

143) HRA & I SHatadd AT S It g2

A) g1 ¢t

B) gra

C) IR
D) drestan

144) Match the following leaders in List | with their corresponding famous slogans in List I

List I List IT

(1) Bhagat Singh (a) Do or Die

(i1) Mahatma Gandhi (b) Dilli Chalo

(ii1) Subhas Chandra Bose (c) Inquilab Zindabad
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A) (i)-(c), (ii)-(a), (iii)-(b)
B) (i)- (b), (ii)-(c), (iii)-(a)
C) (i)-(a), (ii)-(b), (iii)-(c)
D) (i)-(a), (ii)-(c), (iii)-(b)

144) FEI! | 7 eafaf@a Ad18i &1 = 1| 7 I Tefad aRiey ARt & 9y Fard|

TEIT Bsglitt

() HTTIRE  (a) HIATHR
(i) werem T |(b) fereett T
(iii) GHTSE IR (c) TPATRRIT]

A) (I)-(c), (ii)-(a), iii)-(b)
i)- (b), (ii)-(c), (iii)-(a)
i)-(a), (ii)-(b), (iii)-(c)
)

)
)
)
) (i)-(a), (ii)-(c), (iii)-(b)

(
B) (
C)(
D) (

145) Who among the following revolutionaries was NOT part of the Kakori Conspiracy?

A) Ram Prasad Bismil
B) Bhagat Singh

C) Chandrashekar Azad
D) Keshab Chakravarthy

145) e i@ FfaeREl 3 ¥ S HeRY ¥387 &1 feear 787 82

A) I gare; Tt
B) yra &g

C) Teg ey 3ol
D) &2 wrshadf

146) Which of the following options is TRUE regarding the tenure of a member of State Public
Service Commission?
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A)

B)

A member of State Public Service Commission shall hold office for a term of 10 years from
the date on which he enters his office

A member of State Public Service Commission shall hold office for a term of 5 years from the
date on which he enters his office

A member of State Public Service Commission shall hold office until he attains the age of 65
years

A member of State Public Service Commission shall hold office until he attains the age of 62
years

146) T AP QAT AT & G b HIIH & TR #F folet 7 F D T {aveq TET 872

A)

B)

T Tl T 3TN BT HEET U AT b Ugel et & 10 HTel ¥ 3/ & faw Ug URul
ERUll

= Tl JdT SHTANT BT e U THgfFd P UG T Y 5 A1l v 37afer o forw UG ¥Rl &
qHdl &

I Wb YT SN BT T 65 T & 3 Tb UG YRVl HR Fobell &
T TN T STANT BT HEET 62 A I 3T T UG YRV HR Gabell §

147) In January 2018, the Union Minister for Earth Science inaugurated the High Performance
Computer (HPC) System named ‘Mihir’ at which of the following places in India?

A) Patna
B) Noida
C) Lucknow
D) Jaipur

147) HEra Y- 7l 4 URd F rafafad & 9 o T R AR W & 307 fasdres dege’
(HPC) T8EcH DT Sefal 2018 H 3cHIC fohaT?

A) ger
B) fiueT
C) T3
D) s

Page640f90



Setld:61773_4 Technical Assistant (LAB) - Bio-
Technology BATCH1 180CT2020

148) Shanti Swarup Bhatnagar Prize is one of the prestigious multidisciplinary science awards in
India. Who won the Shanti Swarup Bhatnagar Prize for medical science in the year 2018 ?

A) Thomas J. Pucadyil

B) Ganesh Nagaraju

C) Deepak Gaur

D) Ganesan Venkatasubramanian

148) 2N Ta&T HATR TR HRA # wfafSed Tg-Rvas A (Rt § T 81 a¥ 2018 7
fafrear faaner @ fore 20ifd Tawd HeATR [RERR et Sl ?

A) YTE S Gepifer

B) 10y ARTS,

C) Qe 1R

D) 11uiz JeregsmvasT

149) Who won the silver medal in the category of Badminton in the Rio Olympics 20167

A) Saina Nehwal
B) P. V. Sindhu
C) Sania Mirza

D) Uma Maheswari

149) R 3N 2016 7 Ssffes AT Aol & I90d Uad fongey Sidr?

A) Tr2AT Hgara
B) . 4. iy

C) aferar fash
D) 31 Argeady

150) Who won the 'FIFA Young Player Award' for his performance at the 2018 World Cup?

A) Diego Forlan
B) Paul Pogba
C) Kylian Mbappe
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D) Ronaldo

150) 2018 faed U U eieT & AT HIwT ITT ToR GEHR ohd) Siid1?

A) e wrelie

B) ure diwren

C) srsforger wramy
D) t=rest
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Section 4 - Techincal Knowledge of Bio Technology

No. of Questions: 50

151) Human chorionic gonadotropin (hCG) is a hormone secreted by the

A) Liver

B) Cytosol

C) Placenta

D) Basal membrane

151) €T IR MATSIET (hCG) U grefel § il fehest T1faT foham ST 572

A) TR

B) grgeidia
C) dieiga
D) 37t fereehr

152) Lactose is a disaccharide compound of two monosaccharides, which are

A) maltose and sucrose
B) fructose and glucose
C) galactose and glucose
D) maltose and glucose

152) eI oI A RIRISS BT U SEHRIISAF ¢, o &

A) ATerd 3R G

B) thereer 3R ool
C) drarererst 3R 7ol
D) Areera 3R se@iel

153) Excretion of large amounts of glucose in urine in individuals with diabetes mellitus is called as

A) Hyperglycemia
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B) Polyphagia
C) Polydipsia
D) Glycosuria

153) BRIfadIst Hoicy ATl cafFadt & T & Te[@Iol T S AT B Scoiel Bl BRIl &

A) grEeRaTeTS AR
B) arehthetrar

C) arehfsufan

P) sersgRan

154) The cell cycle of eukaryotic cell is divided into four discrete phases. Which of the following
represents the CORRECT order of these phases?

A)G1-M-G2-S
B)G1-S-M-G2
C)G1-S-G2-M
D)G1-G2-M-S

154) GHRANEH FIRIHT B RIS Tk Bl TR YA Uit # fyenfSra fovar T 5| Reafar@d & 9
P 7 T B T A BT faifeiitied Bl 52

A)G1-M-G2-S
B)G1-S-M-G2
C)G1-S-G2-M
D)G1-G2-M-S

155) In eukaryotic cells, the ribosomes are

A) 20S and 35S jointly 60S
B) 60S and 30S jointly 70S
C) 60S and 40S jointly 80S
D) 40S and 50S jointly 90S

155) gHRA e PRIA3IT &, IS

Page680f90



Setld:61773_4 Technical Assistant (LAB) - Bio-
Technology BATCH1 180CT2020

A) 208 3R 35S Hged &9 ¥ 60S BId &
B) 60s 3R 30S TgeF & 4 70S Bld &
C) 60s 3TR 40S HYFd &7 A 80S BId &
D) 40s 3IR 508 ¥gFa ¥ 90S BId &

156) In Agarose gel electrophoresis, the migration rate of DNA depends on all of the
following, EXCEPT

A) Agarose concentration

B) Molecular sizes of the DNA fragments
C) Staining the gel with ethylene bromide
D) Conformation of the DNA

156) UTRIST Sief degddurdac &, DNA Hr garie & fs1 7 J fFa &l Doy H R e Sl
T

A) TRIST &1 Glegdr

B) DNA gt o1 3murfass 3R

C) v siAtss & 1Y STd Bl AT BRI
D) DNA &1 S8 w0t

157) RACE is a technique used in molecular biology to obtain the full-length sequence of an RNA
transcript found within a cell. What does RACE stand for?

A) Random amplification of cDNA ends
B) Reverse amplification of cONA ends
C) Rapid amplification of cDNA ends
D) RNA alteration of cDNA ends

157) RACE U% Ut deb-1dh § foTahT SUaNT 31murfaes Siid farsiret & T anfRier & iR ue oF ara
RNA gferere T qof @eg 3 &I ured R & forw 2 §iIdl & | RACE &1 Jof &9 31 57

A) Y57 TEaeithanre 31t cDNA Usd
B) Ra¥f g fthaneret 311 cDNA U8
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C) ¥ vegehftheneret 3ITth cDNA TsH
D) RNA 31Teeere 3{th cDNA TS|

158) Which one of the following enzymes is NOT a restriction endonuclease?

A) EcoRl
B) BamHI
C) Helicase
D) Hindlll

158) fo=iTaiild & ¥ DI U1 UST3H YfaaellcHs TrslegeFollUot 81 57

A) EcoRI
B) BamHI
C) Helicase
D) Hindlll

159) In humans, Single X/XO abnormality causes

A) Turner syndrome

B) Klinefelter syndrome
C) Down syndrome

D) Cri du chat syndrome

159) AT 3, Tebel X /XO 3rATATAAT BT BRI Y T g2

A) e g
B) Frelmsatthoet Rz
C) Sre Rz

D) s gdc Rigan

160) Read the following statements and choose the CORRECT option:

(i) In humans the primary lymphoid organs are Thymus and Bone marrow
(ii) In humans the secondary lymphoid organs are Spleen and Lymph nodes
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A) (i) and (i) are TRUE

B) (i) and (ii) are FALSE

C) (i) is TRUE and (ii) is FALSE
D) (i) is FALSE and (ii) is TRUE

160) =TT HYet B 9 3R TEY faehod Iot:

(i) BTt & grufae formigs SiT, UTSHY SR 3oy Foor §
(i) TSt & efadiae fFmiss S, fee SR forw Asa §

A) (i) 3R (i) TrEr &
B) (i) 3R (ii) Taa &
C) (i) wér & iR (ii) Teret &
D) (i) wrera & 3R (ii) @y &

161) The transfer of tissues or organs between members of two different species is termed as

A) Autograft
B) Syngraft
C) Allograft
D) Xenograft

161) T SATHT-3MTHT FATTAT & TeEdT B 1T Faen! AT 37T B GEATALOT DI AT HT I 872

A) 3fteramre
B) Rieranmee
C) veehamre
D) Sitrenere

162) Which of the following bacteria gives the appearance of 'Chinese letter arrangement' or

cuneiform arrangement'?

A) Staphylococcus aureus
B) Streptococcus pyogenes
C) Corynebacterium diphtheriae
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D) Mycobacterium tuberculosis

162) fr=tfaf@d & A I A1 SFART T 38R cgaear A1 F g caaedr $ f@rae adl 82

A) FeThS e TRTH

B) ety cleiled

C) mRoidedRas frdRT

D) Az éIRaa cgsragentad

163) Growth medium specially used for the culture of Mycobacterium species is

A) Chocolate blood agar medium

B) Léwenstein-Jensen medium

C) Loeffler's serum slope medium

D) Robertson's cooked meat medium

163) ATSFINFERIH FolTad! 7 Fatiad & forw Ay €9 § ITAN fmar SH 1ol e Areas S
187

A) Tl soig SR ATETH
B) saeedia-ade Areas
C) AHRY TRA TA1T ATETH
D) tfeéaer s Hie AreaA

164) The genes that have become non-functional due to accumulation of severe mutations is
known as

A) Oncogenes
B) Pseudogenes
C) Alpha genes
D) Sticky genes

164) TTHR 3caRad=t & Hag & BRI TR-Friicaes 81 9 dlel U] P foha & & ST Sl 62
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A) stieprsiea
B) rygisi=a
C) 3rewr Sheg
D) T shea

165) The type of genetic recombination which occurs between two short and specific DNA
sequences and that does not require extensive similarity in the two DNA sequences undergoing
recombination is

A) Site-specific recombination
B) General recombination
C) Holliday recombination
D) Homologous recombination

165) A RIF GALASIT BT IR Sl &l Bic 3R fARIse DNA 35 & oiid gl & 3R ford
Qe 2sTeT § TORA aTcl &l DNA SFIshaT & camash JHAdT T 3TaehdT 11 gidl §

A) Frge-fafrse Yaeaere
B) SRl Yeeiater

C) gifors gzt

D) T#eitd geriaisret

166) PCR is a technique to make multiple copies of specific DNA region in-vitro. This technique
relies on DNA primers and the enzyme

A) Taq Polymerase
B) Taqg Synthetase
C) DNA Helicase
D) DNA Ligase

166) PCR 39-faer  fafarse DNA &1 $r &3 ufaat 91 $1 U6 dh-1b & | T8 db-1dh DNA JigHT
3R e USTTSH TR iR e 82

A) Taq qrelaAST
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B) Taq fRioew
C) DNA efada
D) DNA @ET1T

167) A method for separating biochemical components often macromolecules from complex

mixture based on a highly specific biological interaction such as between antigen and antibody is
termed as

A) Polymerase chain reaction

B) Nuclear magnetic resonance spectroscopy
C) Agarose gel electrophoresis

D) Affinity chromatography

167) B9 TETIToIeh Teat I 3T B & forw T fafer 31 31T fafrse 33 37a:fFar & SMTYR W
SIfeer fRrsror I 983U oY afarete SR uferefy & oitd & il ¢ | SA BTSN §

A) e 39 Ao

B) raperela #9eifeh Yofiorer Erereanidy
C) 3R I seFRIPRIR

D) uftsfarér ety

168) In the eukaryotic cell, oxidative phosphorylation takes place in

A) Lysosome
B) Golgibodies
C) Mitochondria
D) Nucleus

168) YH RN HIRHT &, AN ed HrEmReNHIOT hee IaT 82

A) T
B) sMesfrataer
C) argareifzar
D) mafereraa
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169) Which of the following enzymes is known as the clearing factor?

A) Esterase

B) Lipoprotein lipase
C) Phosphatase

D) Protein kinase

169) fAFaAfaf@a & § v UoTSH &l Fehafier thaet HEISGT 82

A) trem

B) R argus
C) wreweg

D) grétet g

170) The main function of microtubules in the cytoplasm of the cell is

A) Cell division

B) Generating ATP
C) Autophagy

D) Cellular respiration

170) SIRIHT B HIRIAT Ged 3 YaHATIRIT DT HET HI FIT 57

A) hIfRrenT fastreter
B) ATP 3t _A1
C) Tarrashdy

D) s eadreT

171) The M checkpoint during cell division ensures that

A) DNA damage has been repaired
B) sufficient growth of cell has occurred

C) all chromosomes have been replicated and that replicated DNA is not damaged
D) all the sister chromatids are correctly attached to the spindle microtubule
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171) FIRIHT YA B TR M Jehearge FaT JARET BT 67

A) DNA &1f 1 Feetad 1 718 ©

B) iR &1 waficd Jaf % o

C) @it URgEt T afEa €1 T ¥ SR wfdresfar e T DNA erfarered 761 §
D) qult foreex wifes 0% YawAetfom I w8 &7 3 SSgU &

172) Read the following statements and choose the CORRECT option:

(i) Diffusion is the movement of a substance from an area of high concentration to an area of low
concentration

(i) Osmosis is the movement of water through a partially permeable membrane from an area of
higher concentration to an area of lower concentration

A) (i) is TRUE and (ii) is FALSE
B) (i) is FALSE and (ii) is TRUE
C) (i) and (ii) are FALSE

D) (i) and (ii) are TRUE

172) fRFEAfaf@d et Bl 9 SR T8 fshed ot

(i) SR, 39 GigdT a1 879 T S Figar dIal 817 & e gerd frafa g
(il) TRTERUT, 3= FigdT d1dl &3 H HH FigdT dlel &7 & 311 &9 I IR Breo & Aregs I gl
Frafa®

A) (i) @& 8 3R (i) Tad §
B) (i) Tefd ® 3R (i) TEr B
C) (i) 3R (ii) T B

D) (i) 31 (i) e

173) The child's blood group is O. The blood group of the parents could be:

A)Aand B
B) AB and A
C) AB and AB
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D) AB and B

173) S BT IeFd IHE O | HIAT-RIcT BT I THE F4T 51 Gabdll 62

A)Aand B
B) AB and A
C) AB and AB
D) AB and B

174) The most important example of point mutation in humans is

A) Sickle cell anemia
B) Klinefelter syndrome
C) Night blindness

D) Down syndrome

174) T3t # g 3caRader &1 9aY Hgeaqul SaeUic

A) it TRt 3T
B) Fremsatthoey g
C) rafefy

D) gr3=fdiga

175) When there is addition of one or many or entire sets of chromosomes, the condition is known
as

A) Euploidy
B) Aneuploidy
C) Genotype
D) Phenotype

175) SIel TTURYET 1 Teh A1 s A1 R AT W SISTSI © 39 AT Bl oy &9 3 ST STl 87

Page770f90



Setld:61773_4 Technical Assistant (LAB) - Bio-
Technology BATCH1 180CT2020

C) Sfrergy
D) fpetrersy

176) If under a given environment both members of a twin-pair develop the same phenotype the
twins are said to be

A) Monozygotic twins
B) Fraternal twins

C) Concordant

D) Discordant

176) Tfe; TRy fT T AIATERUT & I8 el SSarsiis! o T U & TauraAfse Ferfad oid § dl
NSEIEIEISIGIE

A) THgaFsT JA
B) gfq3tuss gaw
C) Fimwise
D) Srasisc

177) The predominant type of immunoglobulin secreted by the B lymphocytes of the Gut in humans
is

A) IgG
B) IgA
C) IgM
D) IgE

177) A{sat 3 3fid & B fewraTged earT a1fad 81 dTell ¥ IR B sFIATclisg o &

A) IgG
B) IgA
C) IgM
D) IgE

178) The secretory immunoglobulin present in the human breast milk is
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A) IgM
B) IgA
C)IgG
D) IgD

178) AFA Tciel & gy & HIG[G AT SEIAT AT ool §

A) IgM
B) IgA
C)IgG
D) IgD

179) A substance that facilitates the phagocytosis by coating the foreign particles is

A) Interleukins
B) Interferons
C) Perforins
D) Opsonins

179) T TeTe, S freit-ahott Bl e dcb henrarsefare i grer od1 3

A) sexeafrea
B) gexinteq
C) woif=a
D) sffcafar=a

180) The tool in recombinant DNA technology in which fragments of DNA from one organsim can
be taken up by a second organism is

A) Transformation
B) Transduction
C) Translation

D) Transcription
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180) T: TSI DNA ez & IUBRUITSas Teb Sitd § DNA & Ih gl GIR Sild aRT foram Sl
Dbl g

A) gRade
B) g
C) 3rare

D) s

181) Widal test is a type of

A) Slide flocculation test
B) Tube flocculation test
C) Tube agglutination test
D) Latex agglutination test

181) IsSTACEE TP TR BT

A) TATES FATFIITH 2T &
B) <d weitergaR ¢v 8
C) zgd wafeae ¥ §
D) sreerer woeifeaieret &e &

182) One who has recovered from the disease and continues to harbour the pathogen in his body
isa

A) Healthy carrier

B) Convalescent carrier
C) Paradoxical carrier
D) Contact carrier

182) T8 O NART ¥ IRIPT ¢ AR ITDH R & AeTSteTeht BT 347 AT I §

A) Tary dIeD
B) O: wareey ured a5
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C) faRremamreh dIgh
D) guds arg

183) Which of the following factors does NOT affect the growth of bacteria?

A) Oxygen

B) Shape of bacteria
C) Carbon dioxide
D) Temperature

183) fAFATafld SRt 3 H BI A1 SFERT Y Gefer Bl yemiad A& Pl 87

A) sitereieret

B) &1 1 SR
C) sreet sre3ifrarss
D) argam=

184) Name the most commonly used thermostable DNA polymerase during the Polymerase Chain
Reaction (PCR).

A) Tag DNA polymerase
B) Bag DNA polymerase
C) Terminal transferase
D) DNA gyrase

184) TFE T RuaereT (PCR) & SR Ta¥ 31Re SEQATS 811 a1l YAfEeaer DNA TreliFest &1
BIEEEGIEY

A) Taq DNA Grel#@et
B) Bagq DNA greliaet

C) effieel creemid

D) DNA TERY
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185) The enzyme-mediated chain termination method of DNA sequencing was developed by

A) Frederick Sanger and Andrew Coulson
B) Allan Maxam and Walter Gilbert

C) James Watson and Francis Crick

D) Rosalind Franklin and Maurice Wilkins

185) DNA 3{Is#0T & UST3H-Hf30es o effiaer fafty fRrads carT faswfad #r 11s o2
A) 32Re TR TS UE B

B) TdM Aera# TS arecy Rieae

C) s deaiet TS hifer fiper

D) tafois thiger U AT fRfcwa

186) Split genes with intervening sequences are called

A) Variable genes
B) Exons

C) Introns

D) Non-sense genes

186) GEETT B dTd SFsha B WY TSI IR DI HEISIAT &

A) aftuee iea
B) weraiew

C) seret

D) A9 -a=w shear

187) Which of the following is a type of correlation, when the amount of change in one variable
does not bear a constant ratio to the amount of change in the other variables?

A) Negative correlation
B) Partial correlation

C) Linear correlation

D) Non-linear correlation
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187) =il # Y BIF AT Uob T b1 AGHEY ©, S Th =R 3 TRGeeT T AT GER TR F aRad
T AT & TARN U TR 97 78T PRl 67

A) FhRTcHS Jegay
B) 31ifdre Hgddy

C) Tty ggdsy

D) sRtg Tgisiy

188) A graphical statistical tool in which a circle is divided into a number of sectors such that the
area of each sector is proportional to the quantity it represents is referred to as a

A) Bar graph

B) Histogram

C) Pie diagram

D) Frequency polygon

188) Teh Mfhehel T fETEeehel TH foreTel U Tehel Bl s Qered & IS foham ST 8 Ol 6 ycdsh
QeFed BT STl SUHATT B ST BIdT § [oIIBI YfafATeied BT 5, 39 fohe &7 & Fef3hd famar
T 87

A) §R 7T

B) smrad o
C) urg 3w
D) s Tg

189) Standard deviation is the square root of

A) Variance
B) Mode

C) Mean

D) Frequency

189) HIeh farerelel frerenT aaTad 672
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A) gazoT
B) AP
C) amey

D) smafe

190) Differential staining is based on application of different stains which can stain DNA and RNA
separately. In presence of which of the following stains does Pyronin-Y specifically bind to RNA but
NOT to DNA?

A) Methyl green

B) Bromophenol Blue
C) Malachite green
D) Safranin

190) fasiesh YUTT S-S JTRISTH! B ST TR MR & Sl DNA 3R RNA B S-S
HFoTH IRl 8 | Aefaf@a & ¥ e 3fies 67 3ufRufy & TEifas-Y 3y 93 RNA &
YT & AfheT DNA BI 181?

A) fRrse et
B) e ftreiter st
C) Adarge fe
D) Jmta

191) Many molecules have the ability to rotate the plane of polarization of plane-polarized light.
This property is called

A) Fluorescence
B) Dispersion

C) Optical activity
D) Absorption

191) % U3t & THAA -t vehrer & yAHRUI & THAT P AM F1 &7 Sl 3| TE U HEeel
g

A) gfadiea
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B) Barg
C) graur goferar
D) 3ra=iyor

192) Read the following statements and choose the CORRECT option:

(i) Resolving power is the ability to distinguish two close points as distinct points
(i) Magnification is the ratio of actual size of an object seen with naked eyes and size of the object
observed under the microscope

A)
B)
)
)

(i) is FALSE and (ii) is TRUE
(i) is TRUE and (ii) is TRUE
(i) is FALSE and (i) is FALSE
(i) is TRUE and (ii) is FALSE

C
D

192) =Tl HYat Bl 9 3R TEY ferod ai:

(i) Feheq et &l T Fig3T DY SERT-SIeRT foiegsll & & 3 Ne B & &1 e &
(i) 3TareleT FoRelY o P aTEcash SHTHR BT AT BIdT & 1o AT 377 & T STl § 3R 39 aF &
AHHR B! Gerrresl T <@ I 3

A) (i) TTad B IR (if) 8T §

) (i)
B) (i) @ér & 3R (ii) @& &
C) (i) Terd ® 3R (ji) e ©
D) (i) =& & iR (i) Ted §

193) Glycolysis is an enzyme controlled pathway in which one molecule of glucose is converted
into

A) acetyl coenzyme A
B) pyruvate

C) lactate

D) ethanol

193) TellghITS A U USTeH fafya A1t § foras s Iel & U (U] foha #F aRafda gidl o2

Page850f90



Setld:61773_4 Technical Assistant (LAB) - Bio-
Technology BATCH1 180CT2020

A) 3rfTeTSel PITSTEH A
B) qréwdc

C) deree

D) gata

194) A family of protease enzymes playing essential roles in programmed cell death is

A) Kinase
B) Nuclease
C) Caspase
D) Lipase

194) NETH TsTEAT BT Ueh TRAR Sl SHATERIA HIRAHT Heg 3 3Ma2ash YA femmar g

A) B3
B) =gfeerde
C) ooy
D) @zt

195) Which of the following steps is NOT involved in Polymerase Chain Reaction (PCR)?

A) Denaturation
B) Annealing
C) Migration
D) Extension

195) fraAfaIf@a 3 § B 7 IRUT GiferdtsT 9 RuaersT (PCR) # i 787 87

A) faspfasmor
B) drar=iter
C) yarget
D) faear
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196) Isoelectric focusing technique is a method for separating proteins according to their

A) viscosity of the protein molecules

B) isoelectric points in a density gradient

C) isoelectric points in a pH gradient

D) coagulation capacity of protein molecules

196) TATICIATIST EATeT Shigd Tb-11dh U AT g Ol fohersh SITHR WeT Pl 3T B!l 67

A) BréreT fursi BT R fRmare
B) T getca gaurar & snmsdisaiFes g

C) T pH gaurar # 3msaigaiFes fg
D) &t S(uysit it SHTAC aFaar

197) Rh incompatibility is a condition that occurs when a

A) pregnant woman has Rh-negative blood and the baby in her womb has Rh-positive blood
B) pregnant woman has Rh-positive blood and the baby in her womb has Rh-negative blood
C) Both mother and father have Rh-positive blood

D) Both mother and father have Rh-negative blood

197) Rh 3R Ueh U Feufay 8 o7 a0« it § ol

A)  arstadh Afger & AR 7 Rh-ARIcA® tad Bidl § 3R B 3 Ud @ g0 BT Rh-THlcHH
Tl BT §

B) e After & iR 7 Rh-HaIcH® & d i1 & 3R ISP T 7 Ud Vg s BT Rh-"AFRIcHS
el BIT §

C) Tar 3R fdr et 3 Rh-HeaTcHA® T BT &

D) O 3R Rdr @1t 3 Rh-AehRIcHA® tord gial &

198) The cell produced by the fusion of a cancer cell and a plasma cell is known as

A) cell culture
B) myeloma cell
C) memory cell
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D) hybridoma cell

198) U $heeil AT 3R U CoATeHT HITRAehT B HAT EaRT [T IRkt B a7 BTl 87

A) ITRrerT GaeieT
B) argardr smfRrenr
C) ey AR
D) grefsgiaT sifdrenr

199) The restriction enzyme which recognises GATC sequence is

A) Haelll
B) Sau3Al
C) BamHI
D) Hindlll

199) I8 Uide=er TS3H Sl GATC 3 Pl UgdHdl o

A) Haelll
B) Sau3Al
C) BamHI
D) Hindlll

200) Correlation coefficients are used in Statistics to measure how strong a relationship is between
two variables. The formulas return a value between -1 and 1, where 1 indicates a

A) strong negative relationship

B) strong positive relationship

C) no relationship at all

D) relationship cannot be determined

200) GeH&Y T[UTie BT IUANT AT ¥ Ig AU & forw fham ST 8 & &1 9R & g YeY e
T 51 97 -1 3R 1 & sitdl U A leral &, S8l 1 1 ST ol o7

A) A FehRTeHS Jetl
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B) ASqd wehRTcH® HeY
C) Y Teley w1gT
D) wiser foresifer a1t o ST Whall ©
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